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OPTIMIZATION BY LEVENBERG-MARGUARDT MINIMIZATION ALGORITHM

ITER FUNCTION TRANSMISS STORTIVTY
1 .J8BE-03 .7854E+05 .1417€-03
3 .3568E-03 .8076E+05 .1041E-03
3 .3535E-03 .BO23E+05 .1030E-03

TERMINATION DUE TO PARAMETER CONVERGENCE

FINARL RESULTS
ITER FUNCTION TRANSMISS STORTIVTY
9 J395E-03 .8040E+05 .102BE-03
FRACTIONAL COMPONENTS OF FUNCTION VALUE
WELL & 1 2 M
1.000 0000 .0000

DO YOU WANT A SENSITIVITY ANALYSIS 7 (Y/N)

SENSITIVITY ANALYSIS

TWO STANDARD DEVIATION CONFIDENCE INTERVALS

PARAMETER VALUE LOMER LIMIT  UPPER LIMIT

TRANSMISS  .BO4OE+05 0.8028E+05 0.8052E+05
STORTIVIY  .1028E-03 0.0000 0.3976E-02

TO CONTINUE ENTER “RETURN®
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OPTIMIZATION BY LEVENBERG-MARQUARDT MINIMIZATION ALGORITHM

ITER FUNCTION TRANSMISS STORTIVTY SPEC_LEAK
I JA71E-04 .7023E+05 .3988E-03 ,3784E-04
2 .171E-04 .7023E+05 .3988E-03 ,3789E-04

TERMINATION DUE TO PARAMETER CONVERGENCE

FINAL RESULTS
ITER FUNCTION TRANSMISS STORTIVTY SPEC_LEAK
2 .171E-04 .7023E+05 .398BE-03 .3789E-04
FRACTIONAL COMPONENTS OF FUNCTION VALUE
WELL & | 2 3
.0000 1.000 .0000

s )2

DO YOU WANT A SENSITIVITY ANALYSIS 2 (Y/N) ' \E;{/Wi
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TWO STANDARD DEVIATION CONFIDENCE INTERVALS

PARAMETER VALUE LOWER LIMIT  UPPER LIMIT
TRANSMISS  .7023E+03 0.6981E+05 0.7063E+05

STORTIVTY  .3988E-03 0.0000 0.1587€-01
SPEC_LEAK  .3791E-04 0.0000 0.1105

TO CONTINUE ENTER "RETURN*



OPTIMIZATION BY LEVENBERG-MAROGUARDT MINIMIZATION ALGORITHM

ITER FUNCTION TRANSMISS STORTIVTY
1 J123E-03 .7184E+05 .4200E-03
3 J273E-04 .T750E+05 .3848E-03
5 .180E-04 .7590E+05 .3894E-03

TERMINATION DUE TO PARAMETER CONVERGENCE
FINAL RESULTS
ITER FUNCTION TRANSMISS STORTIVTY
5 J180E-04 .7640E+05 .3873E-03
FRACTIONAL COMPONENTS OF FUNCTION VALUE
WELL & 1 2 3
.0000 .0000 1.000

DO YOU WANT A SENSITIVITY ANALYSIS 7 (Y/N)

SENSITIVITY ANALYSIS

TW0 STANDARD DEVIATION CONFIDENCE INTERVALS

PARANETER VALUE LOWER LIMIT  UPPER LIMIT

TRANSMISS  .7640E+05 0.7597€+05 0.7684E+05
STORTIVIY  .3B73E-03 0.0000 0.1418€-01

T0 CONTINUE ENTER “RETURN®
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OPTIMIZATION BY LEVENBERG-MARQUARDT MINIMIZATION ALGORITHM

ITER

~ O B P e

FUNCTION
+136E-02
.103E-02
+100E-02
+100E-02
+100E-02

TRANSNISS STORTIVTY SPEC_LEAK
.H707E+05 . 4200E-03 .1900E-02
«6945E+05 L I99BE-03 .23BBE-03
.6908E+05 ,3975E-03 .4B45E-03
6905E+05 . 3985E-03 . 5210E-03
+6903E+05 . J9BBE-03 .5247E-03

TERMINATION DUE TO PARAMETER CONVERGENCE

FINAL

RESULTS

ITER FUNCTION TRANSMISS STORTIVTY SPEC_LEAK

7

+100E-02

«6903E+05 .3989E-03 .5247E-03

FRACTIONAL COMPONENTS OF FUNCTION VALUE

WELL &

1
J471

2 3
+3799E-01 2149

DO YOU WANT A SENSITIVITY ANALYSIS ? (Y/N)

SENSITIVITY ANALYSIS

TWO STANDARD DEVIATION CONFIDENCE INTERVALS

PARAMETER VALUE LOWER LIMIT  UPPER LIMIT
TRANSMISS  .6903E+05 0.6876E+05 0.6930E+05
STORTIVTY  ,3989E-03 0.0000 0.9993E-02
SPEC_LEAK  .5251E-03 0.0000 0.6513E-01

TO CONTINUE ENTER “RETURN"
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FLIMFE TEST INNGT S

log t/d=
-5.00 —-4.00 -35.00 -2.00 -1.00 0.00
2.30 T T T T 1.00
1.30 -1 0.00
.oo'-o"’°‘°°*° + +
log ,o'°*°’° PG 1ug
W(U,r/b) Leen 70 s
0.30 | . -4 -1.00
~0.70 | ] l 1 -2.00
.40 1.40 2.40 3.40 4.40 5.40
log 1/U
o — Data

+ - Type Curve

Confined Leaky: r/B = 0.01
SOLUTION
5 //7
Transmissivity = 4.181E+01 ft.2/min.= 9<0 34#@&%@%?
Storativity = &.659E-04 Lot



FLiirFE T EST DEaT s

log t/d=
—3.00 -4 .00 -3.00 2,00 -1.00 Q.00
2.34 T T L T 1.00
1.36 -1 C.00
lﬂg s eoe opo®® o O 40 O+ O 1Dg
W{l,r/b) oo ® *°°° =
o P
‘D°+o
0.36 |- o ¢+ -+ -1.00
-0.464 1 | 1 L -2.00
0.62 1.42 2.462 3.62 4.62 .62
log 17U
o — Data

+ - Type Curve
Confined Leaky: r/B = Theis

SOLUTION

Transmissivity

Storativity

QW&N bl 2

BT

/

4.801E+01 Tt. E/mln.%~§/7}QQ4?
4 HOTE-O4
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EuiFE T EST O héa T &

log t/d= ‘
-4 .00 -3.00 —-2.00 -1.00 .00 1.00
2.30 T T T T 1.00
1.30 -1 ©.00
lﬂg wob ot ot OF 0t Ot + + o+ s 4+ e IDQ
N(U,rlb) o 40 +c o ® s
0.30 | - -1.00
—-0.70 1 | l 1 -2.00
1.29 2.29 3.29 4,29 5.29 5H.29
log 170
o - Data
+ - Type Curve
Confined Leaky: r/B = 0.04
SOLUTION
%)
Transmissivity 4.181E+01 ft.2/min. = 450, ?44/5y@[%§**
] // '

Storativity = B.378E-04
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